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BR3—2 BEMICERTILEESNSERICEYSEE (1/1) _ _ HEEE | FRISEE
SEMMOME | BFES | 134D3001 | B4R | KiE-1 | FriEth EFRENHIIRXFEETKE
SIERM O TiRICHET S EVag)
ﬁg TRZEDBBOEILEHOKRES TREDOHBEEILHOKRES TRZEOBBOEILEHOKRES TREDHEBSILHOKRES
&5 X 4 B | FimhoniE on)jté‘fé B 4 TImMLDKE | H& 710)7(%23 B 4 = Limh oD S jJG)jté‘fé B 4 LimhoDLEE | B 710)7(%23
(m) (m) (kN/m) 5 BiE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
1 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 559 69.78| #h st | 000 ~ 0.00| 158 8.48 ZFh st 1.00] 500 ~ 6.60 69.78| #h st | 500 ~ 6.60] 158 8.48
5 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 584 73.12| #hlist 1000 ~ 584 1.78 9.55 ZFh st 1.00] 500 ~ 6.60 73.12| #hilst | 500 ~ 6.60| 1.78 9.55
3 100kN/m%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 573 7160 #hlist 1000 ~ 573 205 10.99 ZFh st 1.00] 500 ~ 7.70 7160 #hilst | 500 ~ 7.70| 2.05 10.99
4 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 7.31 93.10| #h st | 000 ~ 7.31| 184 9.82 ZFh st 1.00] 500 ~ 950 93.10] #h st | 500 ~ 950| 1.84 9.82
5 100kN/mM%#B 2% -l -~ = -|3mZi#BZ % -~ = = —| 100kN/m%#BZ % = -~ = -|3mZi#BZ % -~ = = =
ZFh st 1.00/ 000 ~ 459 57.18| #h st | 000 ~ 459| 1.88 10.08 ZFh st 1.00] 500 ~ 500 57.18| #h st | 500 ~ 500 1.88 10.08
100kN/mM%#B 2% ~ ImEBZD ~ 100kN/MZ#B X% ~ ImEB2D ~
st ~ st ~ st ~ 2070 ~
100kN/m%#B 2% ~ ImEBZD ~ 100kN/MZ#B X% ~ ImEB2DH ~
st ~ st ~ st ~ 2070 ~
100kN/m%#B 2% ~ ImEBZD ~ 100kN/MZ#B X% ~ ImEB2DH ~
st ~ 2070 ~ st ~ st ~
100kN/mM%#B 2% ~ ImEBZD ~ 100kN/MZ#BZ. % ~ ImEB2DH ~
st ~ 2070 ~ st ~ st ~
100kN/mM%#B 2% ~ ImEBZD ~ 100kN/MZ#BZ. % ~ ImEB2D ~
ZrnLst ~ st ~ ZrnLst ~ st ~
100kN/mM%#B 2% ~ ImEBZD ~ 100kN/MZ#BZ. % ~ ImEB2D ~
ZrnLst ~ st ~ ZrnLst ~ st ~
100kN/mM%#B 2% ~ ImEBZD ~ 100kN/MZ#BZ. % ~ ImEB2D ~
ZrnLst ~ st ~ ZrnLst ~ 2070 ~
100kN/mM%#B 2% ~ ImEBZD ~ 100kN/MZ#B X% ~ ImEB2DH ~
ZrnLst ~ st ~ ZrnLst ~ 2070 ~
100kN/mM%#B 2% ~ ImEBZD ~ 100kN/MZ#B X% ~ ImEB2DH ~
ZrnLst ~ 2070 ~ ZrnLst ~ 2070 ~
100kN/mM%#B 2% ~ ImEBZD ~ 100kN/MZ#B X% ~ ImEB2DH ~
st ~ st ~ st ~ st ~
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